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1. Where does electro-static shielding 1. IMARIT MR el # ﬁﬂgﬁ EIRER

occur in a charged spherical shell? URRET Hal BT 27
(A) When electrical potential

(A) T4 AR Tid & e faggd

outside spherical shell is zero

AT I BN B
(B) When electrical potential _
(B) 4 AR WA & &% faggd
inside the spherical shell is
EHAT 3~
Zero T i 8
(C) When electrical field outside (C) 9 TAPR el b TR &S
the spherical shell &
(D) Electrical field inside the (D) TR W & 3R [Id &3
spherical shell

2.  The steady state part in the 2. R-L URUY H 9RT & oid § ReR
expression of current in the R-L JTIRAT T &7
o
circuit 1s’ (A) Y R/
R
Y eR/L)E
(A) e

(B) Ke—(R/L)t
(B) Ke—(R/L)t 1;
:j © -
© -
g D) =
. v
D) 5
3. The value of the time constant in 3. R-L gRuy # fAud 999 &1 719 2?
the R-L circuit is? (A) Td /IR
(A) LR B) R/
(B) R/L
(C) IR
(€) R
(D) Ud
(D) L
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After how many time constants,
the transient part reaches more
than 99 percent of its final value?
(A) 2
(B) 3
©) 4
D) 5

If the roots of an equation are real
and unequal, then the response will
be?

(A) Critically damped

(B) Under damped

(C) Over damped

(D) Damped

If the roots of an equation are
complex conjugate, then the
response will be :

(A) Over damped

(B) Critically damped

(C) Damped

(D) Under damped

If the roots of an equation are real
and equal, then the response will
be :

(A) Over damped

(B) Damped

(C) Critically damped

(D) Under damped

4.

o I ReRi® & d16, dd WM
AU 3t @ @ 99 UioRId | afeid
T Ugd I 27

(A) 2

(B) 3

©€) 4

D) 5

e ol FHeRT & ol ardfdd IR
I 2, a1 wfafera grf?

(A) pifcid 3rgHe

(B) T raHfadt

(C) 3Hferd sraAf<d

(D) 3fgHfad

A fodl THa~v & g |As g
g, a1 ufcfehar grM -

(A) e Srafed

(B) ifcid 3ra¥e

(C) 3fgHf=d

(D) T SFfed

I 5 FaRY & ol ardidd 3R
IR &, T IR BT -

(A) e Srafed

(B) 3aHfad

(C) wifdd 3gHe

(D) T SFfed
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8. In the sinusoidal response of R-L- 8. R-L-C URUY & WAg¥iged Ufdfshar
C circuit, the complementary ¥ i ® fdaaT @ RS AR
function of the solution of'11s : (A) i, = c,e®1+K2E 4 ¢ p(K1-K2)t
(A) i, = ce®1HK2t 4 (¢ o(K1-K2)t (B) i, = c,e®1KDt 4 ¢ o(KI-K2)t
(B) i, = c,e®17K2t 4 ¢ (K1-K2)t (C) i, = c e®KDEt 4 ¢ o(K2-KD)
(C) i = creEITKDE 4 ¢ o(K2Z-KLE (D) i, = c,e®I+KDE | ¢ o(K2+KD)
(D) ic — Cle(K1+K2)t+ Cle(K2+K1)t

9. Which of the following elements 9. MY & R BT SRR dxe Q‘cﬁl(?!r;;d)d
of electrical engineering cannot be SOl & fa=foRad 5 9 g d@
analyzed using Ohm’s law? &1 v & fbar o gear &7
Eg; ICa;pac;itors (A) Stfyey

nductors :
(C) Transistors ®) m
(D) Resistance (©) FIFRR
(D) R

10.  In the sinusoidal response of R-C 10. oA wfhe & TSy ufafhar
circuit, the complementary 3MS & I Bl RS IR
function of the solution of 1 is : (A) i, = ce t/RC
(A) i, =ce /R (B) i, = cet/R¢
(B) i, = ce'/R¢ (C) i, = ceRet
(C) i, =ce ket (D) i, = ceRet
(D) i, = ceRt

11.  According to the fundamentals of 11. sﬁﬁ;&m sﬁﬂﬁﬂﬁﬁ D el ﬁi@r_vﬁ ®
electrical engineering, which of ITAR, T q o UH Ud Afde #
these is a correct representation of S aﬁl &1 e e 27
peak value in an AC Circuit? (A) IRTICH e /i HaeR
(A) RMS value/Peak factor B) e I
(B) RMS value*Form factor
(C) RMS value/Form factor ©) AT el / P PRS
(D) RMS value*Peak factor (D) SIRTHTH ﬂ@l*tﬁ?ﬁ haex
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12. Which of the following is correct ~ 12.  IfQR,® AH R, ¥ 31 g, a1 sf@an o
about the power consumed by R, ‘_flé R,3R R, ERT U &I T8 vfdd &
and R, connected in series if the an ¥ FPrfRed 3 9 o a w8 2
value of R, is greater than R,? (A) R A o & @ o
1
(A) R; will consume more power
1_ (B) R, Rorel &1 @ua &
(B) R, will consume more power o
(C) R; and R, will consume the © R R i aw
same power A
(D) The relationship between the (D) Wud @ T Ak b G Fa
power consumed cannot be W el fdar o aadm @
established
13. Who defined electric current and 13. ﬁﬂgﬁ gRT B e aRIT fovar &R
devised a method to measure fogga  ew P AT B [/ Py
current? TR faT?
(A) Michael Faraday
(A) HASHA DRI
(B) Andre-Marie Ampere _
_ (B) 3a—HI TRIRR
(C) Nikola Tesla
C) e <
(D) Alessandro Antonio Volta ©
(D) Tl Tl dlee
14.  What is the number of branches in 14, @9 9€d 3R oH S arel dfde |
a circuit with three nodes and three SIRGT3T T G fohal 2idl &7
loops? (A) 4
(A) 4 (B) 5
(B) 5
©) 6
€ 6
D) 7 (D) 7
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15.  Who witnessed the effect of 15, Iqdhcd Bl YMIG Ugell IR bl qaar?
magnetism for the first time? (A) B9 flaue sifcs
(A) Hans Christian Orsted (B) STelgoreR UTEq de]
(B) Alexander Graham Bell ©) ST
(C) Michael Faraday e e
. (D) TXMG T9C (bR
(D) Gustav Robert Kirchhoff
16. The unit for dielectric strength 16. CR’@HQH NIESECARIPED gl
1s (A) V/im’
(A) V/m’ (B) MV/m’
(B) MV/m’ (C) MV/m
(C) MV/m (D) Vm
(D) Vm
17. If the voltage increases, what 17.  3If deeol 9ear &, Wﬁﬂﬂﬁ NG|
happens to dielectric strength? & T BIaT &7
(A) Increases (A) Tem 3
B) Decreases
®) (B) Tedl @
(C) Remains the same
(C) el &l 8
(D) Becomes zero
(D) ¥ Bl W @
18.  Leakage in capacitors is primarily 18.  PURYex # Rrg = vy kil
caused by @ BRI BT ¢ |
(A) Transistors (A) gifoeR
(B) Resistors B) R e
(C) Inductors _
(C) e
(D) DC motors
(D) SR wiey
Series-B B.Sc. - B140101T/ 567 Page - 7



19.  The flow of electrons in dielectric
is due to
(A) Conduction
(B) Potential difference
(C) Breakdown
(D) Resistance

20. The flow of electrons which does
not pass through the battery is
known as
(A) Displacement current
(B) Leakage current
(C) Either

leakage current
(D) Neither

leakage current

displacement  or

displacement nor

21. If the resonant frequency in a
series RLC circuit is 50kHz along
with a bandwidth of 1kHz, find the
quality factor ?

(A) 5
(B) 50
(C) 100
(D) 500

22.  What happens to the quality factor
when the bandwidth increases?
(A) Increases
(B) Decreases

(C) Remains the same

(D) Becomes zero

19.

20.

21.

22.

TIHaT gl H Soldgl &l yar®
@ HR BT |

(A) drerd

(B) HHIfdd 3fcR

©) <&

(D) URR™

Solgg I &l YaTg S el | el T[ordl
2, e @ B F ST I 2 |

(A) e orr

(B) dlod dve

(C) 1 A favermos a1 Reag o

(D) T @ foRemE iR 9 & oo
INC

A TH HE FRURN Aidbe H
IOAE JMgRT 1kHz @ defdsy &
Y 50kHz &, T O SRS Tlol ?
(A) 5
(B) 50
(C) 100
(D) 500

ﬁ@ﬁ@:ﬂ ded WX NUESIRCANCE GG
BIAT 87

(A) el &

(B) ¥edl @

(C) 98 &l &

(D) I B I ©
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23.  What happens to the quality factor ~ 23.  TSIgH 3 dc%l d¢1 W U dRb &l
when resonant frequency T BIdT 2°
increases? (A) T 3
(A) Increases (B) -
(B) Decreases
C) qel el &
(C) Remains the same ©
(D) Becomes zero (D) 3 & ST &
24. Resonance frequency  occurs 24, ] 3Tlf|ﬁ[ TT B & TG o
when (A) THINA = TRl
(A) XL = XC (B) W >QER:R$[
(B) Xi>Xc ©) - s
(©) Xi<Xc .
(D) fifRa =t fom < e
(D) Cannot be determined
25.  What is power factor of a series 25, A @ Rufd & ded Udh %BQFIT
RLC circuit under resonance IRV e &1 vfdd dRe @7 2?2
condition? (A) 0
(A) 0 ®) 1
B) 1 .
. (C) ¥ad
(C) Infinity
D) 100
(D) 100 (D)
26.  What is a permeable substance? 26. IR yerf @ E?
(A) Any good conductor (A) D3 ¥l 3BT BT
(B) Any bad conductor (B) P oY T BT
(C) Any strong magnet :
(C) DT 1 7T GaF
(D) Any substance through which _
o (D) @5 N werRf ey ga] gaa
the magnetic lines of force _ _
can pass easily ad i TR w9
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27.  Materials having good retentivity ~ 27. 30l URIERT &l arel UeTd 2
are : (A) AT 99P
(A) Strong magnets (B) FIAR W
B) Weak t :
(B) Weak magnets (©) IR oy
(C) Temporary magnets _
(D) IR gah
(D) Permanent magnets
28.  Magnetic field exists along which ~ 28. ffciRad § ¥ fobda =1 gy &
of the following? AIgE 87
(A) Moving charges (A) HfdT =
(B) Stationary charges (B) Rer yuR
(C) Copper (C) PN
(D) Iron (D) ofreT
29. A voltage source connected in  29. %i'EWIT 4 th UREG B \_{1@
series with a resistor can be diecol Fid @) uRafda fear o1 dadr
converted to a : 2
(A) Current source in series with (A) TF U B vl sieger 6 el
a resistor N <
(B) Current source in parallel = : :
with a resistor (B) T fl @ W e A
(C) Voltage source in parallel CINEEI _ _
with a resistor (C) U | R B 9y iR |
(D) Cannot be modified dleeol Wrd
(D) SN & o 1 e
30. Calculate the total current in the 30. wfoe Bl HRC DI AT N
circuit :
(A) 2.3mA (A) 23mA
(B) 4.3mA (B) 43mA
(€) 33mA (C) 3.3mA
(D) 1.3mA (D) 1.3mA
Series-B B.Sc. - B140101T/ 567 Page - 10



31. Find the value of voltage once 31. wfde ¥ ¥ uRaaH [SINN B9 @ 915
source transformation is applied to dleco] Bl AT T PIfSTT ?
the circuit ? A

o § ohm 10k
B 10 o
(A) 10 dl
(A) 10V ®) 209
(B) 30V
(C) 50 @t
(C) 50V
(D) 70V ©®) 70

32. A graph is said to be a directed 32. U®H Y% B FRRT UM% FE O T
graph if _ of the graph has AR TE B o i faem 3
direction. (A) 1 3T
(A) 1 branch (B) 2 TN
(B) 2 branches o) 3 :

(C) 3 branches ©
(D) Every branch (D) %S

33. The number of branches incident  33. UT% & Are W MU IR B F=T
at the node of a graph is called : Pl 2
(A) Degree of the node (A) e &) f&h
(B) Order of the node (B) R —

(C) Status of the node 21 @ Rofy
(D) Number of the node © _
(D) e @I |&

34. If no two branches of the graph  34. ARG ® & Bg A1 3 AN b T
cross each other, then the graph is DI dredl T8l g A U6 Pl T Pal
called? ST &°
(A) Directed graph (A) BrS%e ure
(B) Undirected graph

(B) 3 T
(C) Planar graph
(D) Non-planar graph © e
(D) IR-TR I
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35. Number of twigs in a tree are?  35. Udtree ¥ twigs @ G fdhal &kl
(Where, n-number of nodes) g? (e, n_:ﬁg\q:[ cafkite)
(A) n (A) n
(B) n+l (B) n+l
(C©) n-1 (C) n—1
(D) n-2 (D) n-2
36.  Loops which contain only one link ~ 36.  ¢fd ¥ daa @ fofd B &, o
are independent are called : PeEdd &
(A) Open loops (A) E\ﬁ G
B) Closed loops :
ECi Basic loopf (B &
(D) None of the mentioned (©) W Ky
(D) SfeatRed # & F15 e
37.  Two ports containing no sources in ~ 37. 39 @I e & ool IR ¥ a1y
their branches are called : Fid Tl €, dedd ©
(A) Active ports (A) Hha o
(B) Passive ports ®) ffm o
(C) One port
(D) Three port (© %@ e
(D) N Ure
38.  Two ports containing sources in  38. 3O IRIH § FId dTel &I SGTET Bl
their branches are called : T Del Sl &7
(A) Three port (A) o e
oo 0w
assive ports
(D) Active pIZ)rts (© T e
(D) <fsha ure
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39. In determining open circuit  39. 'V, V,, I, I,® §, 309 Wfbe UfEm
impedance parameters, among Vi, tRex RUiRd o H, fy=forlRag & @
V,, 1;, I, which of the following P g v &°
are dependent variables? (A) V.,V

1s 2

(A) Vla VZ
(B) V., V,

(B) Vi,V
©) VvV,

(C) Vla IZ
D) L, V,

(D) I, V,

40.  Which of the following expression ~ 40. 3flud Wfbe WMk & HHA H
is true in case of open circuit f=foRaa O § B9 9 IR 9
parameters? 27
(A) V1:ZHV1+212 Iz (A) V1:ZHV1+212 Iz
(B) Vl = le Il + ZlZ VZ (B) Vl — le Il + le VZ
(C) V1 = le I1 + le Iz (C) Vl — le Il + le Iz
(D) Va=ZnLi+Znkh D) Vo=ZL+Zp 1,

41. If A represents incidence matrix, I 41.  IfCA AU ﬁﬁ?ﬂ? &1 UlaEE o
represents branch current vectors, 2 1 9T dxe d9ex & yfafafded axar
then : 2 ar:

(A) Al=1 (A) Al=1
(B) AI=0 (B) AI=0
(©) Al=2 (C) AI=2
(D) AI=3 (D) Al=3

42.  The loop current direction of the 42. U% & Us A € el < il @ Be
basic loop formed from the tree of fear g -
the graph is : (A) UG GRT B e & e
(A) Same as the direction of the (B) it ae @ e 5 e

branch current : :
) o C) fold axc ol feen & w9
(B) Opposite to the direction of © & tem 3
the link current (D) 3Tl T & @l & fae
(C) Same as the direction of the
link current
(D) Opposite to the direction of
the branch current
Series-B B.Sc. - B140101T/ 567 Page - 13



43. The number of tie set matrices 43. UM% | ¥ a1 <R A Agw @
formed from a graph is : TEIT §
(A) NN-1 (A) TG — 1
(B) NN (B) T
(C) NN-2 (C) TITH- 2
(D) NN +1 (D) TITHH
44. In the circuit shown below, find 44. ™ few@mm U dfbe ¥, Wﬁ?ﬁ
the transmission parameter A : IRMeY U 9ot
(A) 6/5 (A) 6/5
(B) 5/6 (B) 5/6
© s © s
(D) 4/3 (D) 4/3
45. In the circuit shown below, find 45. & fo@mn v dfde ¥ ;’RT&-IW
the transmission parameter C : ey 4 9o
S
(A) 4/5 (A) 4/5
(B) 3/5 (B) 3/5
(C) 2/5 (C) 2/5
(D) 1/5 (D) 1/5
46. In determining short circuit 46. 3 Wfbe Ufewm AWEEl @ AR
impedance parameters, among V, qV,, Vo, 1, , 9, fF=fefad § 9 o
V,, 1;, I, which of the following q g =) &°
are dependent variables? (A) V,and V,
(A) Viand V; (B) I, and I
(B) Liand I, (C) V,and I,
(C) Viand I, (D) 1, and V,
(D) I;and V,
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47.  Which of the following expression 47.

1s true in case of short circuit

parameters?

(A)
(B)
©
(D)

48. The parameters Y]], Y12, Y21, Y22 48.

L=YnVitYnV,
L=Ynli+Yp VvV,
Vi=Yulh +Yn 'V,
Vi=YuVitYnp Vs

are called :

(A) Open circuit impedance
parameters

(B) Short circuit admittance
parameters

(C) Inverse transmission
parameters

(D) Transmission parameters

49. Find the Y — parameter Y, in the 49.

circuit shown below :

i dfe WMk & AW H
ffofad % 9 oM a1 Afvafd 9
&7

(A) =Y, Vi+ Y, Vs

B) L=Y, L, +Y,V,

©) Vi=Y [ +tY V,

D) Vi=Y;Vi+YpnV,
RMIERY 11, Yo, Yar, Yo B8 € :
(A) 399 |idbe Uferarer Riex
(B) ¥IiE e yawr WRifiex

(C) el HaRvT RHTeR

(D) grRfRE WRHeR

(AS 2 (A) 2
(B) 32 (B) 32
© 1 (C) 1
D) '/ ® '
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50. Find the Y — parameter Y, in the 50. M fo@me v gRuer ¥ Y — tRmeR
circuit shown below : Y, ST BIFTT
N SRR
(A) -1/4 (A) -1/4
(B) 1/4 (B) 1/4
) 12 ©) 12
(D) -1/2 (D) -172
51.  Kirchhoff’s current law states that: 51.  foxadit &1 aRT a9 dear © &
(A) Net current flow at the (A) TRM R g TR Y8 THRIHD
junction is positive 3
(B) Algebraic sum of the currents B) TEE ® B T R @
zzztmg at the junction is - T 3
(C) No current can leave the © I Al e WRA T A
junction  without  some T foT e e S @
current entering it (D) WM W e aell grwe @
(D) Total sum of currents Cay] InT Nl g
meeting at the junction is
Zero
52. According to Kirchhoff’s voltage 52.  foedis & diecol 99 @& IR, KL
law, the algebraic sum of all IR IR §&I 3R e.m.fs. T SOOI AN
drops and e.m.fs. in any closed Teqe @ fll o 93 qu A s e
loop of a network is always : 3
(A) Negative
(B) Positive (A) :
(C) Determined by battery e.m.fs. (B) HPRIC
(D) Zero (C) 8 $o THo Tho gIT FEiRa
(D) I
Series-B B.Sc. - B140101T/ 567 Page - 16



53. Kirchhoff’s current law 1is 53. fodi®w @1 9RI PIT Ddel W Il
applicable to only : 2l &
(A) Junction in a network (A) TP 7cq & T S
(B) Closed loops in a network (B) Jeqd # 42 oL
(C) Electric circuits C N ——
(D) Electronic circuits © .
(D) gl afoe
54.  Kirchhoff’s voltage law is related  54. f&Ra® dleeol 199 &1 Jd & 2
to: (A) ST gRY
(A) Junction currents (B) 98 Yo THo Tho
(B) Battery e.m.fs. ©) AR élér
(C) IR drops :
D B) 3R (C
(D) Both (B) and (C) D) <l (B) ©
55.  Superposition theorem can be 55. IR THI $ac S99 URUAT W SIRS
applied only to circuits having : foar S gaar & o -
(A) Resistive elements (A) R d
(B) Passive elements B) Ffsy g
C) Non-li 1 t
© .on 1ne.ar elements ©) R
(D) Linear bilateral elements
(D) R 3fduela T
56. The concept on  which 56, O JQURIT W IR YHT 3R
Superposition theorem is based is : HCEE
(A) RGCipI'OCity ( A) qﬂwﬁw
(B) Duality (B) =5
(C) Non-linearity ﬁ_\} W
(D) Linearity © _
(D) Rgad
57.  Thevenin resistance Rth is found : 57.  9df Uik RehdTdT STl €
(A) By removing voltage sources (A) deed WAl B SHD  ATARS
alo.ng with their internal TR & T g
fesistances (B) g TO A e @ W
(B) By short-circuiting the given RIS
two terminals _ _
(C) Between any two ‘Open’ © el al @ﬁ Eﬁ Al
terminals (D) Eu & W @ﬁ cfiel & dra
(D) Between same open terminals
as for Ey
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58. An ideal voltage source should
have :
(A) Large value of e.m.f.
(B) Small value of e.m.f.
(C) Zero source resistance
(D) Infinite source resistance
59.  For a voltage source :
(A) Terminal voltage is always
lower than source e.m.f.
(B) Terminal voltage cannot be
higher than source e.m.f.
(C) The sourcee.m.f. and terminal
voltage are equal

(D) None of these

60. To determine the polarity of the
voltage drop across a resistor, it is
necessary to know :

(A) Value of current through the
resistor

(B) Direction of current through
the resistor

(C) Value of resistor

(D) e.m.fs. in the circuit

58.

59.

60.

T e dieed AId § BFT AR
(A) EUACH FT T8I Hed

(B) STAUH T BICT eI

(C) I I UM

(D) 3T W iR

qiecol 91 @ forg

(A) e dlew @M 9
$0THoUPo I HF Bl 2

(B) ¢ dlecy WA SoUHOUHo o
ARH TE B el &

(C) W $otHoUho 3R el dlees
RIR T

(D) W ¥ P T

fdl URRITS & IR—IR dleedl Y Bl

gadl @ bR b [l AT A

AARD T -

(A) URRHT & ATH | ORT & Jo

(B) URREN & A1 W oRT @) e

(C) URREN &1 qea

(D) %o THo Tho Wfhe ¥
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61. “Maximum power output is 61. "3If¥pad fasiel JdEH Ud Wlcdd o
obtained from a network when the T BT & Od o€ UfeRlg Tedd B
load resistance is equal to the JeeRe IRy & 4R BT & O T T
output resistance of the network as oe & el O Sw S |
seen from the terminals of the _
load”. The above statement is SRIAT Do A
associated with : (A) fAcrET 1 5
(A) Millman’s theorem (B) af 1 5
(B) Thevenin’s theorem ©) Wﬁ?ﬂ e
(C) Superposition theorem (D) Afeehas e SR I+
(D) Maximum power transfer
theorem
62.  “Any number of current sources in  62. FHMIGR ¥ GRT 9l @ fhar ff dwen
parallel may be replaced by a @ Uh Uhd ORT Gid g1 gfaeenfud
single current source whose R o W £ e aN i
current is the algebraic sum of o o 37 SR A 2 ek
individual source currents and N S N
source resistance is the parallel
combination of individual source e |
resistances”. STRI T T €
The above statement is associated (A) AR B T
with : (B) Aerd @1 Wl
(A) Thevenin’s theorem (C) 3Ifrea Ifdd ExATaRYT WY
(B) Millman’s theorem (D) SRITT ¥ F P T
(C) Maximum power transfer
theorem
(D) None of the above
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63.  “In any linear bilateral network, if ~ 63. 'f&=fl ¥ WRaa gquely -eaw #, Il
a source of e.m.f. E in any branch S0 THo Uho fhall ) oRaT # E ol
produces a current I in any other T R Y GNe [ S gRar £ R
branch, then same e.m.f. acting in B et 5 R
the second branch would produce _

_ TET YRT/ Ugell ARG § I 2Rl |

the same current/in the first _

. SWIFT HIT F FRE 7 -
branch”.
The above statement is associated (A) F3d iR
with : (B) RN 5
(A) Compensation theorem (C) URRG T
(B) Superposition theorem (D) SR H ¥ Pls Tl
(C) Reciprocity theorem
(D) None of the above

64. Which of the following is non- 64. f=foRed ¥ F o RIdy e

linear circuit parameter ? W g °?
(A) Inductance (A) RIS
(B) Condenser ®) PG
(C) Wire wound resistor
. (C) 9T 919 YR
(D) Transistor _
(D) giforeey
65. A capacitor is generally a : 65.  UH JEIRF AT o BT 2|
(A) Bilateral and active (A) Tfueha iR Afhg Ted
component (B) by, Fftp, e ok oy
(B) Active, passive, linear and —
nonlinear component
_ P , (C) @ 3R 3fuelg gea
(C) Linear and bilateral
(D) IRRa® 3R Afhy Tged
component
(D) Non-linear and active
component
Series-B B.Sc. - B140101T/ 567 Page - 20



66. “In any network containing more 66. ‘fddl W dedd # TH o THo Tho
than one sources of e.m.f. the S Th ¥ A0S did o | e O smn
current in any branch is the 4 TRC B JAT—AT BIAD RT3
algebraic sum of a number of (w 3 o B T S TR A
individual fictitious currents (the _ _
number being equal to number of el ) @ A 8, o
sources of e.m.f.), each of which is W OTP STE B OGS WA H
due to separate action of each SIS PRATE S PRV EXA &, o
source of e.m.f., taken in order, PH H fora ST & STAUH & ¥9 9
when the remaining sources of hedcdl TART Ufawitd fdam S g
e.m.f. are replaced by conductors, e uyftRly 9dfeg gial & ofaR®
the resistances of which are equal IR & W B |
to the internal resistances of the g e
respective sources’. ) S
The above statement is associated
with (B) T T w
(A) Thevenin’s theorem (©) WW LR
(B) Norton’s theorem (D) SWIR § 4§ PIE el
(C) Superposition theorem
(D) None of the above

67. Kirchhoff’s law is applicable to : 67. foaw &1 | SINN HIE
(A) Passive networks only (A) dad R Jeam
(B) A.C. circuits only (B) T S afise
(C) D.C. circuits only ©) Fo o e e
(D) B.oth. A.C. as well D.C. D) S To o W & o o

circuits
Hlde
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68.  Kirchhoff’s law is not applicable 68. fowds @ M dfde W SRS el
to circuits with : 2l &
(A) Lumped parameters (A) TBeR RTeR
(B) Passive elements ®) Pftr T
C) Distributed parameters
ED; Non-linear resistances (© T AR
(D) IR—Rd YR
69.  Kirchhoff’s voltage law applies to 69. fowdls &1 diecs 99 dfbe W SIBN
circuits with : 2l &
(A) Nonlinear elements only (A) Sac R T
(B) Linear elements only (B) 9 T T
C) Linear, Non-linear, Active
( and Passive elements © Wow, AR, WA
(D) Linear, Non-linear, Active, %Y T
Passive, Time varying as (D) X, RAfew, i, fiv,
well as  time-in-variant Ko C s I B DA
elements I dcd Y
70.  Energy per unit charge is 70. o ufd ?Iﬁ_c' AT s gl
(A) Power (A) TR
(B) Voltage (B) A
(C) Current ©) =R
(D) Capacitance D) R
71.  For high efficiency of transfer of  71. 3fdd SWIORU & S=d <&dl & oIy,
power, internal resistance of the Fid BT JAaRe Uk T a1V
source should be : (A) R URRIY & W
() Bt te it @) s
n r
EC; Mecifettl?an tlfe (l)jad :sistance © " mT uhkid _
(D) None of the above (D) SR § T 3¢ T
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72.  Efficiency of power transfer when — 72.  ¥Ifdd &l 3ifSihad SXAROT 89 WX I
maximum transfer of power is : SEITARYT Dl &HT
(A) 100% (A) 100%
B 0
(B) 80% (B) 80%
(©) 75%
(©) 75%
(D) 50%
(D) 50%
73. If resistance across Load is 30  73. IT IR & JR—UR UKW 30 M €, <l
ohms, then value of rest circuit R favm gRYY R @71 A9 &
is : (A) 10 ®]
1
(A) 10Q (B) 20 @
(B) 20Q
(©) 30 R
() 30Q
D) 4
74.  For maximum transfer of power, 74. ¥fdd & 3fIHdd SR & foly, AT
internal resistance of the source BT ARD iRl T 1RV ¢
should be : (A) R URRE & SRR
Eg; Equal 1:0 lozd 1res;stan.ce (B) ¥R 7 Y & T
ess than the load resistance
(C) ¥R YRR & 31f®
(C) Greater than the load _ _
. (D) SWIE ¥ ¥ P Tl
resistance
(D) None of the above
75.  If the energy is supplied from a  75. I ol @& 3 qé e i B |
source, whose resistance is 1 ohm, 2 forger ufoRl 1 3™ 2 o 100 o9
to a load of 100 ohms the source & IR & fov 9T 2
will be : (A) WWW
(A) A voltage source o
(B) A current source ®) @ HRT?FIT
(C) Both of above © _ _
(D) None of the above (D) 3 Tad H | P Tl
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76.  The circuit whose properties are 76. 98 R o™ o qmr faeme #
same in either direction is known GH B e ©
as - (A) VBT |fhe
(A) Unilateral circuit (B) E{f%rq e
(B) Bilateral circuit o e
(C) TIrreversible circuit ©
(D) Reversible circuit (D) Sect RIS
77.  1In a series parallel circuit, any two ~ 77. Td S0 GHMIGR URUY ¥ Udh & ORT
resistances in the same current gRuyy H fosl < ufoRel @ § &1
path must be in : o :
(A) Series with each other (A) T E&Rﬁ & W W
(B) Parallel with each other B) W T & TR
(C) Series with the voltage source _
(D) Parallel with the voltage © A U B el
Source (D) diecs W & FHMIKR
78.  The circuit has resistors, capacitors 78. wfoe H ufRE®, dURRR @R
and semi-conductor diodes. The JH—hedex SIS Bd ¢ | Ffbe & wY
circuit will be known as : ¥ ST S
(A) Non-linear circuit (A) e e
(B) Linear circuit ®) o TR
(C) Bilateral circuit
(D) None of the above © Eﬁq&ﬁa e
(D) SR & F PIg 81
79. A non-linear network does not 79. TP IRIER -cdd Hgbd Te IRAT ©
satisfy : (A) oA @ Rofy
(A) Superposition condition (B) TaHwUa & Reify
(B) Homogeneity condition (©) eF v dR Wy &
(C) Both homogeneity as well as
superposition condition 4 @1 Refe
(D) Homogeneity, Superposition (D) Towadl SR e
and Associative condition Rerfer
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80.  An ideal voltage source has :
(A) Zero internal resistance
(B) Open circuit voltage equal to
the voltage on full load
(C) Terminal voltage n
proportion to current
(D) Terminal voltage in
proportion to load
81. A network which contains one or
more than one source of e.m.f. is
known as :
(A) Linear network
(B) Non-linear network
(C) Passive network

(D) Active network

82. The superposition theorem is
applicable to :
(A) Linear, Non-linear and Time
variant responses
(B) Linear and Non-linear
resistors only
(C) Linear responses only
(D) None of the above
83.  Which of the following is not a
nonlinear element?
(A) Gas diode
(B) Heater coil
(C) Tunnel diode
(D) Electric arc

80.

81.

82.

83.

UF e diecs! A H 2l &

(A) I RS TR

(B) Tl @€ W dlecd & ISR AU
Hfde dec

(C) URT & MU ¥ e dlecal

(D) IS & U H A dlecd

T ~icdd fOoRTH So THo Tho & T T

TH W ARG W B g 39 Wy A

ST STl ®

(A) XRge -can

(B) R—Rag% dcad

(C) Tty Team

(D) b dead

GRUITT T AR 8l &

(A) Rgop, RIRgF &R I B
BIRIERIN

(B) @ RaF &R IR yferreh

(C) ®ad Rgw ufcrfehar

(D) SR § F PIg 81

frfaRed § 9 9 U6 SREW d@
Tel 87

(A) N SHE

(B) TR digd

(©) T M

(D) saifdgd @M
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84.  Application of Norton’s theorem  84.  Hfcq Y & URUY e W NIBN BT
to a circuit yields: (A) SgaT H THPE ORI W 3R
(A) Equivalent current source and G
impedance in series . :
(B) 99®Y 9N W 3R WAMIGR H
(B) Equivalent current source and
gfcraren
impedance in parallel
. (C) HDe Yfcrdrer
(C) Equivalent impedance
THDY ¢
(D) Equivalent current source (D) & eI e
85.  Millman’s theorem yields : 85. fome @ WY ufavd:
(A) Equivalent resistance (A) THEE IREIC
(B) Equivalent impedance (B) T
(C) Equivalent voltage source
(C) P dlecol A
(D) Equivalent voltage or current
(D) W@ dlecol AT URT A
source
86. The superposition theorem is 86. QjCIQCi GHER| ?rﬂlzﬁ?n g
applicable to : (A) FIo qec]
(A) Voltage only (B) &R " ST
(B) Current “Only” _
(C) 9RT 3R dlecol SM!
(C) Both current and voltage
(D) ©RT dlecol 3R Ifdd
(D) Current voltage and power
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87. Between the branch voltages of a 87. < @ IRIT dleey] @ 49 foxas B
100p the KirCthff,S VOltage laW dlocy] Cb"j\"' (,,HJL gIdl é‘:
imposes : (A) R T
A) Non-linear constraints _
(&) (B) e Trmd
(B) Linear constraints _
(C) ®Is qrT Tl
(C) No constraints
(D) SWIE ¥ ¥ P Tl
(D) None of the above
88. A passive network is one which 88. U Mftpy wcad a8 & FvH ofid &
contains :
(A) Only variable resistances (A) Sadt aRadNg yRdy
B) Only some sources of e.m.f. _
(B) Only (B) ST B @ A 5
in it
© Efo THo Tho & Hdc] ﬁ‘\’iﬁﬁsﬂ
(C) Only two sources of e.m.f. in
_ 4
1t
(D) No source of e.m.f. in it (D) T 1P W T T A
89. A terminal where three on more 89. TP cfHFd Wigl O 3R NI fAer
branches meet is known as : £ @ WY H O @ e
(A) Node (A) e
B) Terminus
(B) B) o
(C) Combination _
(C) \ylo
(D) Anode
(D) Tls
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90. Which of the following is the  90. fi=foRad & ¥ o9 fAftpy ar &7
passive element? (A) SerRa
(A) Capacitance (B) e e A
(B) Ideal current source
(C) 3y drecot A
(C) Ideal voltage source
(D) SWIa I
(D) All of the above
91.  Which of the following is a 91. fy=foRed # & & & gfueliy da@
bilateral element? 27
(A) Constant current source (A) frae aw o
B) Constant voltage source
®) (B) Rd dieew 9
(C) Capacitance _
(C) Wenia
(D) None of the above
(D) SWIE ¥ ¥ P Tl
92. A closed path made by several 92. ¥cdd @ By ANIRN §RT SV T §3
branches of the network is known UJ B P ©Y F ST A B
as : A)
(A) Branch
(B) <fu
(B) Loop
(C) dfde
(C) Circuit
(D) Siar
(D) Junction
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93. A linear resistor having 0 < R < 93. 0<R< ol Uh & URRES
®isa: Th g
(A) Current controlled resistor (A) ©RT FRIfE ISR
(B) Voltage controlled resistor (B) e FrEl Adaren
(C) Both current controlled and ©) T ux BEfE aR deew
voltage controlled resistor A
(D) None of the above mﬁ _
(D) SR § F Pg 81
94. A star circuit has element of 94. Udh &R Afhe H ufoRig &1 d@ R/2
resistance R/2. The equivalent 2 2 | qed Secl o 20
delta elements will be : (A) ¥R/6
(A) R/6 (B) 3R
(B) R
(€) 2R (C) 23R
(D) 4R (D) 43R
95. A delta circuit has each element of 95, U® Secl URYY H UAS q9Yg @I
value R/2. The equivalent AMR/2 BT 2| €. & 9 R dfhe
elements of star circuit with be : > AT O
(A) R (A) 3R
(B) R/3
(©) 2R (B) 3IR/3
(D) 3R (C) 23R
(D) 33X
96. In Thevenin’s theorem, to find Z : 96. JdffF & YT ff, 7 Bl ST BT
(A) All independent current (A) ¥ Wd3 gRT WG 9 dfde 8
sources are short circuited 3N WaT dlece g Qgﬁ afhe
and independent voltage 3
sources are open circuited :
(B) All independent voltage B) W N ?Eﬂﬁ E‘iﬁ Hibe
- B 2 R W wdd uRr W
sources are open circuited 5 _
and all independent current 9iic wfde & &
sources are short circuited (C) ¥l et dlecs 3R GRT W
(C) All independent voltage and oie Afhe 8
current sources are short (D) I wWad qrecy] did 9ife dfhe
circuited gﬁﬁ % 3ﬁ-\r Q:pﬁ W INT q;hﬁ
(D) All independent voltage @3} e B &
sources are short circuited
and all independent current
sources are open circuited
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97.  While calculating Rth in  97. 94" & WAY &R e ¥HdE § Rth
Thevenin’s theorem and Norton P T BT THY
equivalent : (A) W W@ It @Y g fea
(A) All independent sources are T &
made dead
(B) Only current sources are ®) A B
made dead faarTr &
(C) Only voltage sources are (C) I Fec ] @l qa a fem
made dead ST 8
(D) All voltage and current (D) W diees 3R GRT Al @ qd
sources are made dead g1 fear oar @
98. The number of independent 98. TP -cdd @ B X & folU wW@dd
equations to solve a network is FHIPIUT P T IR6N &
equal to : (A) St 9 Gw@
E:; ?: num:er oi ;hord}s; B) I o & v
e number of branches
(C) Sum of the number of © ST SRS A e
branches and chords am
(D) Sum of number of branches, (D) AT, A SR e I e
chords and nodes a1 AT
99. The superposition theorem  99. Wﬁl?ﬂ T Bl §A I D folg
requires as many circuits to be AT B Afdbe @I MAWHAT BNl @
solved as there are : ot g
(A) Sources, Nodes and Meshes (A) 9, TIed 3R AW
(B) Sources and Nodes (B) W 3R Ared
(C) Sources (C) ¥
(D) Nodes (D) A
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100. Choose the incorrect statement :
(A) A branch formed by the

parallel connection of any
resistor R and open circuit
has the characteristic of an

open circuit

(B) A branch formed by the

parallel connection of any
resistor R and a short circuit
has the characteristic of a

short circuit

(C) A branch formed by the

series connection of any
resistor R and an open circuit
has the characteristic of an

open circuit

(D) A branch formed by the

series connection of any
resistor R and a short circuit
has the

resistor R

characteristic of

100. T HH T

(A)

(B)

©

(D)

EE R

el o gfREl aR ek e
dfhe & FHFIR HIRH  §RT
oIS TS AR # SNue e
GEECIESI

fel ot ufeRel o ek Wi
dfhe & FHFIR HIRH  §RT
oIS TS uwRaT # e e @
GEECIESIE

fopeft 1 foREN &R SR U& el
Hbe & Il PR R a1
TS W A UE Gl dide @l
GEECIESI

el o1 JfeREN oR ek Wi
qfbe & g@Al TR GRI
Tfeq I H OufREl oI @
ferear el 2 |
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Note:

DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO

Examinee should enter his / her roll number, subject and Question Booklet
Series correctly in the O.M.R. sheet, the examinee will be responsible for
the error he / she has made.

This Question Booklet contains 100 questions, out of which only 75
Question are to be Answered by the examinee. Every question has 4
options and only one of them is correct. The answer which seems
correct to you, darken that option number in your Answer Booklet

(O.M.R ANSWER SHEET) completely with black or blue ball point

pen. If any examinee will mark more than one answer of a particular
question, then the first most option will be considered valid.

Every question has same marks. Every question you attempt correctly,
marks will be given according to that.

Every answer should be marked only on Answer Booklet (O.M.R
ANSWER SHEET).Answer marked anywhere else other than the

determined place will not be considered valid.
Please read all the instructions carefully before attempting anything on
Answer Booklet(O.M.R ANSWER SHEET).
After completion of examination please hand over the Answer Booklet

(OOM.R ANSWER SHEET) to the Examiner before leaving the

examination room.

There is no negative marking.

On opening the question booklet, first check that all the pages of the
question booklet are printed properly in case there is an issue please ask the

examiner to change the booklet of same series and get another one.
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